
354TB 
Hardware Kit 

Fiberglass Air ducts 

4 pc long J nut 
4 pc hex head tapping screw 
May have to trim fiberglass to fit 

2 pc long J nut 
2 pc hex head tapping screw 

5 pc short J nut 

8 pc hex head tapping screw 
8 pc short J nut 
8 pc 1/4 lock washer 

I 5 pc hex head tapping screw 

8 pc 1/4-20x1/2 cap screw 
8 pc 1/4 lock washer 
8 pc 1/4-20 hex nut 
16 pc flat washer 

Does not apply to 1955: 
4 pc 1-1/4 long hex head bolt 
4 pc 12-24 hex nut 
4 pc ext tooth lock washer 
8 pc small flat washer 


